30. Your friend can read a book perfectly but cannot read the writing on the

31.

blackboard unless she sits on the front row in class.
(a) Which defect of vision she is suffering from ?

(b) What type of lens would an optician suggest her to correct her eye
defect ?

(c) How is the far point of her eye affected ? 3)

MUl I fohare a1 =8 ¥ Ug Whdl B, Afhd sihdle W fer@r gem

9 Tk TEl UE Hehdl, W9 d% fF 9% wel H oW & ufgd H T S =N

(%) = fFu 3fe w9 dfsa 22

(@) & AfRET S 99 9 i 3k wE o fau 39 f6g gHR o1
T gEmm?

() SHH oM@ w1 gR fag @ ywR yafaa genm @2

Draw a diagram of a human female reproductive system showing the
parts responsible for :

(a) Production of an egg
(b) Fertilisation to occur

(c) Development of an embryo 3)

ffafad o fag fHIR 91T &l <91d ¢ AME W] YS9 Jolell &1 T
ICERCE I
(%) 32 H IURA
(@) A &1 e
() 4o k1 foeh™
OR ( 31Yar)

A tadpole looks very different from an adult frog. Write any three points
of difference between them.

Th IS Ueh 9O%h Wedh W wgd ool f&@dl 81 3ok o™ 3fal o whig

@ fig fafay

191




Alternative question for visually impaired students in lieu of Q. 31
In the human reproductive system, state the function of-
(a) Testes
(b) Uterus
(¢) Ovary

YT W@ 31 % WM W ghedtia sl o fau dewfeas we
ad goH 99 H fefafad g & wE adasa-

() Fuu

(@) "™

() IESHE

32. (a) Based on the graph provided identify the period when males and
females experience the most significant growth spurt.

(b) Name a term associated with a early adolescent period. 3)

Females , .

2 4 & 8 10 12 14 18 18
Age (years)

Growth rate over childhood and

adolescence (male and female
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33.

(%) U T WE o FUX W IH @M HI TEEH HY S« GEA SR
Afeeet § Fod Tequl fawm@ g #1 SEE =@l €

(@) URf9e fReeeen ¥ J8 T W& &1 M Fdrsu|

Females , .

2 4 & 8 10
Age (years)

Growth rate over childhood and

adolescence (male and female

Alternative question for visually impaired students in lieu of
Q. No. 32

Enlist any three changes which occur during puberty.

U W& 32 % WM W gieafia el o fau dwfeus wwm
qod &% I TH a frd i gRad #1 geEegy w1

Mention three effects of the chemical reaction that occur at the electrodes

and within the solution, when electric current is passed through ionic
solution. 3)

So fogga ¥R oAt fawEd @ iR yaifed Bt ® Al Soigeigl R oden
foaead o AR B arel TeEfe stfafeRan oF I gWEl 1 Ieei@ hiteul
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Section-D (@38-9)

(Question No. 34 to 36 are Long Answer Questions)

34. (a)
(b)

(b)

Write the full form of LPG.

‘Natural gas is considered a cleaner fuel’. Write any two reasons in
support of this statement.

Mention the petroleum products which are used :

(i) for making roads and coating the underside of electric poles.
(i) As Grease, for making vaseline, oinments and candles.

(i1i) For lubricating machines.

(iv) For drycleaning of clothes. (5)

(%) wadst w1 qu M fafeu)

(@)

()

(a)
(b)

(c)

‘grpfae TH W WEs T WA S 21 3 oM o wue H &
T &R fafEg)
ST ol IH 9 Ui SARl &1 3o hi—
(1) Teh oA R fooicht & @i & F9 Hifen 6@ & faw
(9) dFeld, Heled @R Hivefdl oM & faw W % w9 A
(9) oo ac weiE o fou)
(3) wUSl &I grEFeET o faul

OR ( 37gar)

Petroleum is also called black gold. Why ?

Name the three main products obtained from destructive distillation
of coal. Give one use of each product.

Enlist any two characteristics of crude oil.

(%) Ufer@d i el | i HeEl S gl Hi?
(@) HEd & fARR SAEeq @ 9 OF g8 SRl o 19 9dEll Tow
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35. Rashi, puts a glass slab on a news paper and observes that the letters
appeared to be raised while looking through the glass slab. (5)

On the basis of above information answer the following questions :

(a) Name the phenomenon observed by Rashi in the above case. What
is its cause ?

(b) Write two rules governing the above phenomena.

(c) What will she observe if the glass slab is replaced by a glass tumbler
filled with water in the above case ?

T TH FHER 99 W R 1 ©d W@d ¢ SR S@d ¢ fF i o e
¥ @ W R SW BY Wdld B &

IR THHN o AR ) =Afafea gvf & s <fsa—
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(@) SW ufeeT =i fFEfa w0 9« < fm fafan

(M) AR I feafd & &g & wd w G W W HiE H w9
T feon S @ 39 F k@ <m?

OR ( 3A¥ar)

A ray of light goes from medium 1 to medium 2. The angle of refraction

in medium 2 is greater than angle of incidence in medium 1.
On the basis of above information answer the following questions :
(a) Which of the two media has higher optical density ? Why ?

(b) What will be the angle of incidence and angle of refraction if the
light ray falls normally on the surface of medium 1 ?

(c) Draw a labelled diagram showing the refraction of light ray
representing the above situation.
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36.

TSl H Tk ToR¥or Wegm 1 § WieAg 2 H St gl Wed™ 2 H sTgedd
FHU eI 1§ udd i 9 Sife B e

ST TSRl oh MUR R fefafad gei o I Iifeu—
(%) = o fom wifen &1 eifewa wm@ fus 82 =2

(@) afe g R qegg 1 *) 9d8 W) 9 &9 9 iRt @ siueH
F0 AN STUEdd HIUT FA BNM?

(1) S feufd + WM L YT fhI0T o 3T9acq &l I aMel Th

Tmiferd o oA

(a) Label the parts (i), (ii), (iii) and (iv) of a diagram given below :

@)

(ii)

(iii)

(iv)

(b) Give one difference between part (ii) and (iii).

(¢) Is the above cell rigid or flexible ? Give one reason.
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(%) = fgu MU sm@ & 9 (), (i), (i) W (iv) *F dgd -

(@) 9 (i) 3 (iii) o &= TH R Faqn|
() I ST HIFTHT FSR I oTiell 27 397 IR HI YAV FE o

A

f(lq Tk &Ru S|

Alternative question for visually impaired students in lieu of
Q. No. 36 part (a) and (b)

(a) Give any three differences between a plant cell and an animal cell.

(b) State two functions of cell wall in plant cell.

U9 W& 36 WM (&) 3R (@) & WM W gheartia s & fag
dehfeaer U9

(%) URY HIRHT A Y KGR & S HE dF R TRy
(@) Uy FifsreRT § wifyer fafs o g s dd=d)

OR ( 3A¥ar)
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Identify and give one function of each of the following cell organelles :
(a) Green - coloured plastids

(b) Rod - shaped or spherical structure

(¢) Network of membranes

(d) Sac like structures stacked one above the other

(e) Tiny granules present in the cytoplasm.

frefafad S § ¥ 99% &1 TgaH 3R I9F] T w1 Sdi—
(F) B T & =S

(@) B - SMHR A MAR I

() fafeoa &1 S
(%) Th o SR W gE defi St G
(T) URAwnd § HiNE BR-TRE H0

Section-E (@e-T)

(Question number 37 to 39 are case study based questions and

contain five sub parts each. You are expected to answer any four

sub parts in these questions.)

37.

Suhani, an adventurous eighth grader, embarked on a thrilling mountain
trek during her summer vacation. As she ascended higher into the
mountains, Suhani faced difficulty in breathing and she felt a tightness
in her chest. Despite being physically fit and healthy, she struggled to
catch her breath. Upon returning to school, Suhani shared her mountain
adventure with her science teacher and classmates. Concerned about
Suhani, her science teacher explained the concept of atmospheric pressure
and its effects at higher altitudes. She told that airplane passengers
experience the same. She also explained the practical applications of
atmospheric pressure and safety measures for mountaineers and airplane
passengers. (4)
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(a) Define atmospheric pressure.

(b) How was the atmospheric pressure responsible for difficulty in
breathing faced by Suhani ?

(c) Why does our body not get crushed due to huge atmospheric pressure?
Explain.

(d) Write down two practical applications of atmospheric pressure.

(e) Mention any two safety measures that can be taken to cope with
atmospheric pressure problems at high altitudes by mountaineers
and airplane passengers.

et el T BET et 7 oA T H) FfeeA F WA TH AdEE TRIE
&% Y& w99 €@ 9% weel ¥ SR w9, el w9 oF H S
FT A HEA TSN AR SH O BT W Whed Hegd gl URING &Y
T fhe N WX g4 & dEeR, 98 U Y Uhed o fau gud I
W pa died W, Gert 3 o fomm foerd ok wewfesl & W e
TRl ARt w1 i W R ger oh 9r # fufad, SR foum faes
J IgESHd A 1 SFURON SR STH HEE W SHeh YS! ol HHEN
S=A wqEn 6 B wE o Al &l ft 9 emwd Bl B S
qaRifedl 3R A e AGEl o fou argHed™ qad SR WRem Sl
o ARG YA o aR H off Fam
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199




38. Rohan was asked to perform a series of experiments to study the flame
of candle under the supervision of his teacher. He noticed that candle
flame has different colours and its different regions show different
characteristics. He was very inquisitive and asked the teacher about the
reason behhind his observations. Teacher explained that flame’s colour
depends on two things : the temperature of the flame and the material
being burnt. She asked him to perform specific activities to verify the
same as follows. (4)

(a) He put a thin and long copper wire across yellow and blue zone of
candle one by one for some duration of time. In which zone the wire
would become more hot and why ?

(b) Now, he inserted a thin glass tube in the dark zone of the non
flickering flame and brought a lighted matchstick near the other end
of the glass tube. What do you think he must have observed ?

(¢) Name any two products formed after combustion in the blue coloured
zone.

(d) His teacher gave him kerosene and mustard oil in two different watch
glasses and asked him to bring the burning candle near those
materials one by one. Which material will catch fire instantly and
why ?

(e) Which zone of the candle flame contains unburnt carbon particles.

Ted &1 o9 e &) SEt@ § Higadt ®1 ol k1 ASEH w o fau
% TAM HH o ToIU el T ol SEH <@ TR HiTel i ol oh STe-STer
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39.

() i T &7 ° T8 o 9% 94 ol fR=l o Sl o A Sdisy|

(9) 3k e 4 3= QA STe-3Tem &g H Wi H fAedt # dd @i
T #1 dd & 3R ST9 Joidt g AHest i Uh-Uh hih 3
gEfiEl o U @H w wEl hH @ gl @ N Uehg ot iR
FI?

(&) Hmat &1 Al % Ry &9 § fo Sl wEd U g @2

Ajay went to visit his friend’s house. His friend had lost weight, was
feeling weak and coughing. He spent the night there. After a few days he
started showing the same symptoms as his friend. Ajay visited the doctor.
The doctor diagnosed that he was suffering from a disease caused by
pathogens and said that it is a chronic disease caused by bacteria. The
doctor prescribed him some medicines and asked him to take those
medicines without skipping any dose and take a complete rest. (4)

(a) Name the disease Ajay is suffering from.

(b) Is this disease communicable or non-communicable ? Give reason for
your answer.

(¢) Give one preventive measure for this disease.
(d) Mention the mode of transmission for this disease.

(e) State the type of medicine prescribed by a doctor to Ajay.
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